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2
5280 =P x 25

100
anfe % = 105;;5 = 77.78% p= 2280x2 _ 40000
11
120 1848. (A)
1838.(B) M=t 5m = 25 1849. (A) ww 2mwg wWemr (Co-prime number) ; 3% wen
1200 1 f H.C.E 1 &t we-arara dem weem £
W=t 5@ = 25 *E-Eﬂﬁnﬂs 1850. (A) sin30, sin45
1839, (D) oA w p=dx ' cosd45. cos30
q= B lx 5, 2 1
hx&;:ﬂﬁxr B I R e e
ptq=Tx=21 _Px2x10
1840, (A) wF 5 We= x 1851.(D) 4000 =
3 2 _P=?2U‘Uﬂﬂ
XX =X—==47 g .
58 [1 m) 1
S +—| =
e 42x3x5 - 105 C.[—Emﬁ[}|: 100
Ix2 121
1 105 _ lal
p xx 3="72-=35 —zmx[lm —J
1841. (B) 1I0M+5W=60 =2l]ﬂ>c_ 21 =T 4200
' 1IM=2W ﬂ'ﬂ(=_120[]
25 W= 60 1852. (B) wwdl ¥fiw wwamm 120 %t €
5M + 20W = 30W ¥ Wgew ="120
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RRB NTPC STAGE-1 & 2 CBT EXAM.
?lﬁg‘[m 14
5+12+13 1870. (B) sz gt = —x18 = 10.08 fimotito
D S=—7 -1 Z
AT 80 = 15x10x3x2 1871.(C) g | = ;%33 =6
=5%x3x2 1 3l2
=30 = Rowfto 1872.(B) -
.(B) ;
e 8500x3xr 18 g
556,00 2010= "0 26
2040x100 1673.(A) 1R @ ®ofo = 5 = 32
r= - =8% 25
85003 ‘
" 22 .“m = =1
1857, (A wie sim =2 x = (14-7) .
' 1.50 -
29 - x100 = 4.7%
=2 X 7 X 7 =44 cm _
1874, Kw %@ wm = 6x3 =8
Im{ﬁ] o Ho = 27120 = %:1‘2% o g
| Jmgmam=4x3 =10/
200x — =95 ]
.1559.!51 100 ; . i g
95x100 ; K+dw g 8710
x= —poo— =475% vl g
860.(A) FF M =165 =740 40
! uﬁ‘ilﬂﬂ'=13m-ﬂ1'ﬂ'lil 40 4
gwrt § = 18 x 9 = 162 M 3w &1 G =-§=4§ﬁ#
gig T &™ = 165 - 162 = 3 3™ g %
| 5500x4x2 7750x6x2 —— 3.2x10° _ 16
1861.0)  snfe T = — 55 100 ; N 2:-:1-:]; 102
= = o : 1876. ( o Holfe =X
440 + 930 1::?[1_;_ ““““zqﬁﬂ
5. 40x x x =1
1862. D) e TfoT = F(HEDE] 2 1440
. = P(1.025)* 4 40
1863, (D) apdte T = 475 x (132 - 125) x= 36
| =475 x 7 = 3325 x=6
524000 100 1.13+5.884  7.014
o = L s = =
QIR TR = 60, @0 1877.C 5504 2000 ~ >0
_ = 3638.6 ~ 3639 1878. (B)
1865.(4) TR W1 wode = 12458 Fo. 2
ﬁﬂ'ﬂiﬂ = 12453::% = 10589 %o 1679. (A) 11664 = 1mﬂﬂ[]+ﬁ]
G 400 11664 _ 1ﬂﬂ+r]2
) e 3 e 91 = 65 = 2 Lo _[ o
7.(A) snire ¥« =t dWem sl [EE_]E b [lﬂmr 2
= —-l—sx——:ﬂ:’gsq&ﬁﬂﬂ 100 - 100
i~ 3 100 + r = 108
e ot r = 8%
o = Tx = Tx4.1 =287 _ 8x4x7
Q) A g A e . 1880.(A) ST TW= g
=34 -fl-15.E = 8.6 112 1
frerm wand = 52-34 =18 . > Tim 3?5
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